RESPIRATORY ACIDOSIS (low pH, high H™ concentration)
CO; + HyO === H,C0O; === H* + HCOy

Equilibrium
CO» increases (slow or shallow breathing)
Equibibrium shifts to right
H" increases

Kidneys respond:
C02 + HZO —— H2C03 g Tt 4 [—{CO3-
H" excreted
COQ + HQO e H2C03 e Yt 4 HCO:{
-
HCO; increased Equilibrium

Equilibrium shifts left
H" decreases

RESPIRATORY ALKALOSIS (high pH, low H*concentration)
COg + Hzo —_— H2C03 === H* + HCO3_
-
+ Equilibrium
CO, decreases (hyperventilation) .
Equilibrium shifts left
H" decreases

Kidneys respond:

CO; + H0 === H,CO; === H* + HCO;y |
—_—
HCOx excreted Equilibrium
Equilibrium shifts right
H' increases




